
MATHS

BOOKS - NAND LAL PUBLICATION

SIMPLE EQUATIONS

Try These

1. The value of expression (10y-20) depends on

the value of y. Verify this by giving five

different values of y and finding for each y the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vdXsn854h00I


value of (10y-20). From the different values of

(10y-20) you obtain. Do you see a solution to

10 y-20 = 50? If there is no solution, try giving

more values to y and find whether the

condition 10y - 20 = 50 is met.

Watch Video Solution

2. Start with the same step x=5 and make two

different, equations. As two of your classmates

to solve the equations. Check whether they

get the solutions x=5

https://dl.doubtnut.com/l/_vdXsn854h00I
https://dl.doubtnut.com/l/_5Nzrq0Eu5ieA


Watch Video Solution

3. Try to make two number puzzles, one with

the solution 11 and another with 100. 

First puzzle with solution 11 : Think of a

number, multiply it by 3 and add 2 to the

product. The sum is 35. Tell me the number.

Second puzzle with solution 100: Think of a

number, divide it by 10 and subtract 5 from the

quotient. The result obtained is 5. Tell me the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_5Nzrq0Eu5ieA
https://dl.doubtnut.com/l/_hp9sBHt8jUMW


4. When you multiply a number by 6 and

subtract 5 from the product you get 7. Can you

tell what the number is ?

Watch Video Solution

5. What is the number one-third of which

added to 5 gives 8?

Watch Video Solution

https://dl.doubtnut.com/l/_hp9sBHt8jUMW
https://dl.doubtnut.com/l/_wj5zFJ29Yfxm
https://dl.doubtnut.com/l/_1OLjuhpLbqQn
https://dl.doubtnut.com/l/_eb3atuAsS1N6


Exercise 4 1

6. A shopkeeper sells mangoes in two types of

boxes, one small and one large. A large box

contains as many as 8 small boxes plus 4 loose

mangoes. Set up an equation which gives the

number of mangoes in each small box. The

number of mangoes in a large box is given to

be 100.

Watch Video Solution

https://dl.doubtnut.com/l/_eb3atuAsS1N6


1. Complete the last column of the table 

Watch Video Solution

2. Check whether the value given in the

brackets is a solution to the given equation or

https://dl.doubtnut.com/l/_8rBw1ZOR4DJd
https://dl.doubtnut.com/l/_8jf25EIsiLX1


not. 

n +5 = 19 (n=5)

Watch Video Solution

3. Check whether the value given in the

brackets is a solution to the given equation or

not 

7n + 5 = 19 (n = – 2)

Watch Video Solution

https://dl.doubtnut.com/l/_8jf25EIsiLX1
https://dl.doubtnut.com/l/_tRmH5TMGC1l7


4. Check whether the value given in the

brackets is a solution to the given equation or

not 

7n + 5 = 19 (n = 2)

Watch Video Solution

5. Check whether the value given in the

brackets is a solution to the given equation or

not 

4p – 3 = 13 (p = 1)

https://dl.doubtnut.com/l/_dkFQRoiBFjbL
https://dl.doubtnut.com/l/_XJwnLmM1I1L2


Watch Video Solution

6. Check whether the value given in the

brackets is a solution to the given equation or

not 

4p – 3 = 13 (p = – 4)

Watch Video Solution

7. Check whether the value given in the

brackets is a solution to the given equation or

https://dl.doubtnut.com/l/_XJwnLmM1I1L2
https://dl.doubtnut.com/l/_MQMz1FQnjbng
https://dl.doubtnut.com/l/_0HIq32gLuFMe


not 

4p – 3 = 13 (p = 0)

Watch Video Solution

8. Solve the following equations by trial and

error method: 

5p + 2 = 17

Watch Video Solution

https://dl.doubtnut.com/l/_0HIq32gLuFMe
https://dl.doubtnut.com/l/_5LeInm3RmJF9


9. Solve the following equations by trial and

error method: 

3m – 14 = 4

Watch Video Solution

10. Write equations for the following

statements: 

The sum of numbers x and 4 is 9.

Watch Video Solution

https://dl.doubtnut.com/l/_vqRVvS610rZH
https://dl.doubtnut.com/l/_gz30j2xBiOnG
https://dl.doubtnut.com/l/_1pEOKZZqUpZg


11. Write equations for the following

statements: 

2 subtracted from y is 8.

Watch Video Solution

12. Write equations for the following

statements: 

Ten times a is 70.

Watch Video Solution

https://dl.doubtnut.com/l/_1pEOKZZqUpZg
https://dl.doubtnut.com/l/_t6bL0bZFnUfV
https://dl.doubtnut.com/l/_SVuZQeYT0P5D


13. Write equations for the following

statements: 

The number b divided by 5 gives 6.

Watch Video Solution

14. Write equations for the following

statements: 

Three-fourth of t is 15.

Watch Video Solution

https://dl.doubtnut.com/l/_SVuZQeYT0P5D
https://dl.doubtnut.com/l/_YyXCcBFq1GpI


15. Write equations for the following

statements: 

Seven times m plus 7 gets you 77.

Watch Video Solution

16. Write equations for the following

statements: 

One-fourth of a number x minus 4 gives 4.

Watch Video Solution

https://dl.doubtnut.com/l/_HAMU1OxQsJxE
https://dl.doubtnut.com/l/_Rn5vPvbM1Ohz
https://dl.doubtnut.com/l/_ffzeUUUuKrvI


17. Write equations for the following

statements: 

If you take away 6 from 6 times y, you get 60.

Watch Video Solution

18. Write equations for the following

statements: 

If you add 3 to one-third of z, you get 30.

Watch Video Solution

https://dl.doubtnut.com/l/_ffzeUUUuKrvI
https://dl.doubtnut.com/l/_rLS0FDp0bP5e
https://dl.doubtnut.com/l/_Am0WQRQWuRfx


19. Write the following equations in statement

forms: 

p + 4 = 15

Watch Video Solution

20. Write the following equations in statement

forms: 

m – 7 = 3

Watch Video Solution

https://dl.doubtnut.com/l/_Am0WQRQWuRfx
https://dl.doubtnut.com/l/_IENc6XljYEEw


21. Write the following equations in statement

forms: 

2m = 7

Watch Video Solution

22. Write the following equations in statement

forms: 

Watch Video Solution

= 3
m

5

https://dl.doubtnut.com/l/_0KeouLXqDtg0
https://dl.doubtnut.com/l/_bbuJx4BULapr
https://dl.doubtnut.com/l/_K9M4C8OukgTX


23. Write the following equations in statement

forms: 

Watch Video Solution

3 = 6
m

5

24. Write the following equations in statement

forms: 

3p + 4 = 25

Watch Video Solution

https://dl.doubtnut.com/l/_K9M4C8OukgTX
https://dl.doubtnut.com/l/_6gpg28xRi96i
https://dl.doubtnut.com/l/_Q15StEyEhg2k


25. Write the following equations in statement

forms: 

4p – 2 = 18

Watch Video Solution

26. Write the following equations in statement

forms: 

Watch Video Solution

+ 2 = 8
p

2

https://dl.doubtnut.com/l/_Q15StEyEhg2k
https://dl.doubtnut.com/l/_EnTLgnnL0QM0


27. Set up an equation in the following cases: 

Irfan says that he has 7 marbles more than five

times the marbles Parmit has. Irfan has 37

marbles. (Take m to be the number of Parmit’s

marbles.)

Watch Video Solution

28. Set up an equation in the following cases: 

Laxmi’s father is 49 years old. He is 4 years

https://dl.doubtnut.com/l/_h0A7DmrQfJkM
https://dl.doubtnut.com/l/_Bev0xrmoYGcy


older than three times Laxmi’s age. (Take

Laxmi’s age to be y years.)

Watch Video Solution

29. Set up an equation in the following cases: 

The teacher tells the class that the highest

marks obtained by a student in her class is

twice the lowest marks plus 7. The highest

score is 87. (Take the lowest score to be l.)

Watch Video Solution

https://dl.doubtnut.com/l/_Bev0xrmoYGcy
https://dl.doubtnut.com/l/_q8gM8V4UKrUY
https://dl.doubtnut.com/l/_BVOMoobrL7cv


Exercise 4 2

30. Set up an equation in the following cases: 

In an isosceles triangle, the vertex angle is

twice either base angle. (Let the base angle be

b in degrees. Remember that the sum of

angles of a triangle is 180 degrees).

Watch Video Solution

1. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_BVOMoobrL7cv
https://dl.doubtnut.com/l/_gk0sR3envWIR


x-1 = 0

Watch Video Solution

2. Give first the step you will use to separate

the variable and then solve the equation: 

x+1 = 0

Watch Video Solution

3. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_gk0sR3envWIR
https://dl.doubtnut.com/l/_FnvzvoPzPf3g
https://dl.doubtnut.com/l/_lG214E9XX98V


x-1 =5

Watch Video Solution

4. Give first the step you will use to separate

the variable and then solve the equation: 

x+6 = 2

Watch Video Solution

5. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_lG214E9XX98V
https://dl.doubtnut.com/l/_VQwBCWN2NXoR
https://dl.doubtnut.com/l/_7NwrJGdEKdbr


y-4 = -7

Watch Video Solution

6. Give first the step you will use to separate

the variable and then solve the equation: 

y-4 = 4

Watch Video Solution

7. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_7NwrJGdEKdbr
https://dl.doubtnut.com/l/_jFkKJjDycAfg
https://dl.doubtnut.com/l/_PPj4HA2mNHt1


y+4 = 4

Watch Video Solution

8. Give first the step you will use to separate

the variable and then solve the equation: 

y+4 = 4

Watch Video Solution

9. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_PPj4HA2mNHt1
https://dl.doubtnut.com/l/_eOo9tmdSEfp1
https://dl.doubtnut.com/l/_LxqqjgpyWpJ6


3l= 42

Watch Video Solution

10. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

= 6
b

2

11. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_LxqqjgpyWpJ6
https://dl.doubtnut.com/l/_JuI10RJNKoPf
https://dl.doubtnut.com/l/_K1x8ovimDw9K


Watch Video Solution

= 4
p

7

12. Give first the step you will use to separate

the variable and then solve the equation: 

4x = 25

Watch Video Solution

13. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_K1x8ovimDw9K
https://dl.doubtnut.com/l/_dXpe2iuNyjzf
https://dl.doubtnut.com/l/_0altDWIPtQth


8y = 36

Watch Video Solution

14. Give first the step you will use to separate

the variable and then solve the equation: 

Watch Video Solution

=
z

3

5

4

15. Give first the step you will use to separate

the variable and then solve the equation: 

https://dl.doubtnut.com/l/_0altDWIPtQth
https://dl.doubtnut.com/l/_IeGrUk9Q5LNX
https://dl.doubtnut.com/l/_1lbXJfwCTKzb


Watch Video Solution

=
a

5

7

15

16. Give first the step you will use to separate

the variable and then solve the equation: 

20t = -10

Watch Video Solution

17. Give the steps you will use to separate the

variable and then solve the equation: 

https://dl.doubtnut.com/l/_1lbXJfwCTKzb
https://dl.doubtnut.com/l/_OEPeBepqueaf
https://dl.doubtnut.com/l/_mecjOnBzQtUp


3n-2 = 46

Watch Video Solution

18. Give the steps you will use to separate the

variable and then solve the equation: 

5m+7 = 17

Watch Video Solution

19. Give the steps you will use to separate the

variable and then solve the equation: 

https://dl.doubtnut.com/l/_mecjOnBzQtUp
https://dl.doubtnut.com/l/_9nst6HxtwNV4
https://dl.doubtnut.com/l/_JW6yTLleI9x3


Watch Video Solution

= 40
20p

3

20. Give the steps you will use to separate the

variable and then solve the equation: 

Watch Video Solution

3 = 6
p

10

21. Solve the following equations: 

10p = 100

https://dl.doubtnut.com/l/_JW6yTLleI9x3
https://dl.doubtnut.com/l/_qRUA1PJevcvO
https://dl.doubtnut.com/l/_OBxosrJCV4vs


Watch Video Solution

22. Solve the following equations: 

10p + 10 = 100

Watch Video Solution

23. Solve the following equations: 

Watch Video Solution

= 5
p

4

https://dl.doubtnut.com/l/_OBxosrJCV4vs
https://dl.doubtnut.com/l/_8VwyEx2QWp3D
https://dl.doubtnut.com/l/_TMhL0Ohj8OKX
https://dl.doubtnut.com/l/_gFut15SoleJG


24. Solve the following equations: 

Watch Video Solution

− = 5
p

3

25. Solve the following equations: 

Watch Video Solution

= 6
3p

4

https://dl.doubtnut.com/l/_gFut15SoleJG
https://dl.doubtnut.com/l/_Y89g3Pg6frId


26. Solve the following equations: 

3s = –9

Watch Video Solution

27. Solve the following equations: 

3s + 12 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_d0NoDe2YEzqN
https://dl.doubtnut.com/l/_bmeDbndjtj3Q


28. Solve the following equations: 

3s = 0

Watch Video Solution

29. Solve the following equations: 

2q = 6

Watch Video Solution

https://dl.doubtnut.com/l/_IXBQR4wSuR8x
https://dl.doubtnut.com/l/_gDeYTnYheTjE


30. Solve the following equations: 

2q – 6 = 0

Watch Video Solution

31. Solve the following equations: 

2q + 6 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_8GEoq2D5Tb9k
https://dl.doubtnut.com/l/_rDy1Le2eQ9JS


Exercise 4 3

32. Solve the following equations: 

2q + 6 = 12

Watch Video Solution

1. Solve the following equations: 

Watch Video Solution

2y + =
5

2

37

2

https://dl.doubtnut.com/l/_kB88LrwpPHWt
https://dl.doubtnut.com/l/_XhI6Yhcrecal
https://dl.doubtnut.com/l/_4G4H8fnfRO9O


2. Solve the following equations: 

5t + 28 = 10

Watch Video Solution

3. Solve the following equations: 

Watch Video Solution

+ 3 = 2
a

5

https://dl.doubtnut.com/l/_4G4H8fnfRO9O
https://dl.doubtnut.com/l/_HlkW5VXFxRWR


4. Solve the following equations: 

Watch Video Solution

+ 7 = 5
q

4

5. Solve the following equations 

Watch Video Solution

x = − 5
5

2

https://dl.doubtnut.com/l/_r6OjpqZjOuSA
https://dl.doubtnut.com/l/_2SAIDsRRrMH1


6. Solve the following equations: 

Watch Video Solution

x =
5

2

25

4

7. Solve the following equations: 

Watch Video Solution

7m + = 13
19

2

https://dl.doubtnut.com/l/_kWkX2Q6xSaXT
https://dl.doubtnut.com/l/_fCvWK7cJR1nu


8. Solve the following equations: 

6z + 10 = –2

Watch Video Solution

9. Solve the following equations: 

Watch Video Solution

=
3l

2

2

3

https://dl.doubtnut.com/l/_sCfQu7P5PNRa
https://dl.doubtnut.com/l/_2ZZIZJr3YGa7


10. Solve the following equations: 

Watch Video Solution

− 5 = 3
2b

3

11. Solve the following equations: 

2(x + 4) = 12

Watch Video Solution

https://dl.doubtnut.com/l/_iOi3EAZlnz3O
https://dl.doubtnut.com/l/_OWOKFVqJahgF


12. Solve the following equations: 

3(n – 5) = 21

Watch Video Solution

13. Solve the following equations: 

3(n – 5) = – 21

Watch Video Solution

https://dl.doubtnut.com/l/_hktLyniJJWuh
https://dl.doubtnut.com/l/_EvN7zM1JsyO8


14. Solve the following equations: 

– 4(2 + x) = 8

Watch Video Solution

15. Solve the following equations: 

4(2 – x) = 8

Watch Video Solution

https://dl.doubtnut.com/l/_8sPIhIhRvIjs
https://dl.doubtnut.com/l/_QogEpFnbsqZD


16. Solve the following equations: 

4 = 5(p – 2)

Watch Video Solution

17. Solve the following equations: 

– 4 = 5(p – 2)

Watch Video Solution

https://dl.doubtnut.com/l/_EQzwICRTYjWP
https://dl.doubtnut.com/l/_4y6gix84YeMV


18. Solve the following equations: 

16 = 4 + 3(t + 2)

Watch Video Solution

19. Solve the following equations: 

4 + 5(p – 1) =34

Watch Video Solution

https://dl.doubtnut.com/l/_G3zMYkptWaFP
https://dl.doubtnut.com/l/_5wrtTc4BCJEC


20. Solve the following equations: 

0 = 16 + 4(m – 6)

Watch Video Solution

21. Construct 3 equations starting with x = – 2

Watch Video Solution

22. Construct 3 equations starting with x = – 2

Watch Video Solution

https://dl.doubtnut.com/l/_Ca3h8cbn0fJZ
https://dl.doubtnut.com/l/_F2kuRAS8Ete6
https://dl.doubtnut.com/l/_pjHKiNWisJNl


Exercise 4 4

1. Set up equations and solve them to find the

unknown numbers in the following cases: 

Add 4 to eight times a number, you get 60.

Watch Video Solution

2. Set up equations and solve them to find the

unknown numbers in the following cases: 

https://dl.doubtnut.com/l/_pjHKiNWisJNl
https://dl.doubtnut.com/l/_uzjmgdCJfBf2
https://dl.doubtnut.com/l/_AbNRgmSKzkq3


One-fifth of a number minus 4 gives 3.

Watch Video Solution

3. Set up equations and solve them to find the

unknown numbers in the following cases: 

If I take three-fourths of a number and add 3

to it, I get 21.

Watch Video Solution

https://dl.doubtnut.com/l/_AbNRgmSKzkq3
https://dl.doubtnut.com/l/_xKhuptJNoiaN


4. Set up equations and solve them to find the

unknown numbers in the following cases: 

When I subtracted 11 from twice a number, the

result was 15.

Watch Video Solution

5. Set up equations and solve them to find the

unknown numbers in the following cases: 

Munna subtracts thrice the number of

https://dl.doubtnut.com/l/_csbcREiIkmcx
https://dl.doubtnut.com/l/_ErDueqJgHBFH


notebooks he has from 50, he finds the result

to be 8.

Watch Video Solution

6. Set up equations and solve them to find the

unknown numbers in the following cases: 

Ibenhal thinks of a number. If she adds 19 to it

and divides the sum by 5, she will get 8.

Watch Video Solution

https://dl.doubtnut.com/l/_ErDueqJgHBFH
https://dl.doubtnut.com/l/_o3ybRatG7WvK


7. Set up equations and solve them to find the

unknown numbers in the following cases: 

Anwar thinks of a number. If he takes away 7

from of the number, the result is 23

Watch Video Solution

5

2

8. Solve the following: 

The teacher tells the class that the highest

marks obtained by a student in her class is

https://dl.doubtnut.com/l/_jd94HhcXxA3q
https://dl.doubtnut.com/l/_8JvQQrfB9ua6


twice the lowest marks plus 7. The highest

score is 87. What is the lowest score?

Watch Video Solution

9. Solve the following: 

In an isosceles triangle, the base angles are

equal. The vertex angle is . What are the

base angles of the triangle? (Remember, the

sum of three angles of a triangle is ).

Watch Video Solution

40∘

180∘

https://dl.doubtnut.com/l/_8JvQQrfB9ua6
https://dl.doubtnut.com/l/_0l5TzJqGYcbW
https://dl.doubtnut.com/l/_yE6od2N78pGx


10. Solve the following: 

Sachin scored twice as many runs as Rahul.

Together, their runs fell two short of a double

century. How many runs did each one score?

Watch Video Solution

11. Solve the following: 

Irfan says that he has 7 marbles more than five

times the marbles Parmit has. Irfan has 37

marbles. How many marbles does Parmit have?

Watch Video Solution

https://dl.doubtnut.com/l/_yE6od2N78pGx
https://dl.doubtnut.com/l/_ilmGDKCksJg3


12. Set up an equation in the following cases: 

Laxmi’s father is 49 years old. He is 4 years

older than three times Laxmi’s age. (Take

Laxmi’s age to be y years.)

Watch Video Solution

13. Solve the following: 

People of Sundargram planted trees in the

village garden. Some of the trees were fruit

https://dl.doubtnut.com/l/_ilmGDKCksJg3
https://dl.doubtnut.com/l/_c18ycSXBknnF
https://dl.doubtnut.com/l/_Xrbvv7hUZ4ac


trees. The number of non-fruit trees were two

more than three times the number of fruit

trees. What was the number of fruit trees

planted if the number of non-fruit trees

planted was 77?

Watch Video Solution

14. Solve the following riddle: 

I am a number, 

Tell my identity! 

Take me seven times over 

https://dl.doubtnut.com/l/_Xrbvv7hUZ4ac
https://dl.doubtnut.com/l/_yCGb8S0UT6LY


Additional Questions For Practice With Solution

Very Short Answer Type Questions Fill In The

Blanks

And add a fifty! 

To reach a triple century 

You still need forty!

Watch Video Solution

1. The number 3 is the solution of the equation

2y + 7 = 13

Watch Video Solution

https://dl.doubtnut.com/l/_yCGb8S0UT6LY
https://dl.doubtnut.com/l/_lmwcxgpb52vd


2. The equation for the statement, 3 more

than one-fourth of the number x is 5 is

Watch Video Solution

3. Sum of two consecutive numbers is 9 then

the two numbers are 4 and 5

Watch Video Solution

https://dl.doubtnut.com/l/_lmwcxgpb52vd
https://dl.doubtnut.com/l/_pcb2rUWhhIzq
https://dl.doubtnut.com/l/_J9FCiScTaZVs


4. Sum of two consecutive number is 21 then

the bigger number is 11.

Watch Video Solution

5. The number which satisfies the given linear

equation is called the solution of the

equation.

Watch Video Solution

https://dl.doubtnut.com/l/_XxDv7wP4OnG9
https://dl.doubtnut.com/l/_BoGtzoj8s2Gx


Additional Questions For Practice With Solution

Very Short Answer Type Questions State Whether

True Or False

6. If the sum of two consecutive number is 13

then their product is 42.

Watch Video Solution

1. The solution of the equation

Watch Video Solution

3x = − 2  is x =
2

3

https://dl.doubtnut.com/l/_TCxmLVEBdUjZ
https://dl.doubtnut.com/l/_zADPV4b0Axzt


2. The solution of a linear equation in one

variable is always an integer

Watch Video Solution

3.  is a linear equation in

one variable.

Watch Video Solution

3x2 − 1 = 2(x + 1)

https://dl.doubtnut.com/l/_zADPV4b0Axzt
https://dl.doubtnut.com/l/_hU747mHU8GqP
https://dl.doubtnut.com/l/_LT6rC9KL6Mzo


4.  is not a linear equation

Watch Video Solution

7x + y = 3

5. There can be many solutions of the

equation x-3 =7

Watch Video Solution

6. We can divide both sides of the equation by

the same non-zero number

https://dl.doubtnut.com/l/_4HqfTT9leJR2
https://dl.doubtnut.com/l/_FpZlvUS3fbwz
https://dl.doubtnut.com/l/_hpOpzACBRJXz


Additional Questions For Practice With Solution

Very Short Answer Type Questions Match The

Following

Watch Video Solution

1. Match the following 

 


Watch Video Solution

https://dl.doubtnut.com/l/_hpOpzACBRJXz
https://dl.doubtnut.com/l/_adToj7idXSk4


Additional Questions For Practice With Solution

Short Answer Type Questions

1. Rohan's age after 7 years is 17 years. What is

his age 6 years ago ?

Watch Video Solution

2. Sum of two consecutive numbers is 41. What

is their product ?

Watch Video Solution

https://dl.doubtnut.com/l/_GJHhS1FKi7sn
https://dl.doubtnut.com/l/_QC6pnHjMYf0N


3. Frame four equations whose solution is 10. 

Watch Video Solution

x = 10

4. Frame four equations whose solution is 10. 

Watch Video Solution

x = 10

https://dl.doubtnut.com/l/_CQaurqMuvJKj
https://dl.doubtnut.com/l/_PG90yKLNAkUp


5. Frame four equations whose solution is 10. 

Watch Video Solution

x = 10

6. Frame four equations whose solution is 10. 

Watch Video Solution

x = 10

https://dl.doubtnut.com/l/_9Me5ynWOqLKD
https://dl.doubtnut.com/l/_mzQPwkvs1cj4


Additional Questions For Practice With Solution

Long Answer Type Questions

7. The two sides of the square are given by 4y-

2 and y+1. Find the perimeter of the square.

Watch Video Solution

8. Two complementary angles differ by .

Find the angles.

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_hdYIUJ6U1b43
https://dl.doubtnut.com/l/_IV2UMeHQmXd2


1. Solve the equation

Watch Video Solution

(p − 5) = + (p − 2)
1

4

1

3

2

3

2. Three numbers are in the ratio 4:5:6. Sum of

the larget and the smallest number is the sum

of the third and 60. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_fqo22zhWrSl9
https://dl.doubtnut.com/l/_2GcRcPCAWQ82


3. The altitude of the triangle is  times the

base of the triangle. If altitude is increased by

4 cm, and base is decreased by 2 cm, area

remains unchanged. Find the base and

altitude of triangle.

Watch Video Solution

5

3

4. A motorboat goes upstream on a river and

covers the distance between
two towns on the

riverbank in six hours. It covers this distance

https://dl.doubtnut.com/l/_PEi5tmQTGSir
https://dl.doubtnut.com/l/_mZMc0LQFtIhG


Additional Questions For Practice With Solution

Hots Answer Type Questions

downstream in five hours. If the speed of the

stream is 2 km/h, find the speed of the boat in

still water.

Watch Video Solution

1. A fruit vendor buys some oranges at the rate

of Rs 5 per orange. He also buys an equal

number of bananans at the rate of Rs 2 per

https://dl.doubtnut.com/l/_mZMc0LQFtIhG
https://dl.doubtnut.com/l/_ppChfCqybLmh


Sample Paper For Practice

banana. He makes a 20% profit on orange and

a 15% profit on bananas. At the end of the day,

all the fruit is sold out. His total profit is Rs

390. Find the number of oranges purchased.

Watch Video Solution

1. Fill in the blanks 

For a given solution the number of equations

that can be formed are ...........

https://dl.doubtnut.com/l/_ppChfCqybLmh
https://dl.doubtnut.com/l/_8yLSDzy6DXxX


Watch Video Solution

2. Fill in the blanks 

If 4 times in one variable cannot have more

than ............. solution.

Watch Video Solution

3. Fill in the blanks 

If 4 times a number is 40, then the number is

.......

https://dl.doubtnut.com/l/_8yLSDzy6DXxX
https://dl.doubtnut.com/l/_yOU3R9TrGNVm
https://dl.doubtnut.com/l/_k4gTZzHjIwBr


Watch Video Solution

4. Fill in the blanks 

The solution of the equation 2y-3 = 7 is ............

Watch Video Solution

5. State whethe true or false 

 is a linear equation.

Watch Video Solution

3x − 1 < 4

https://dl.doubtnut.com/l/_k4gTZzHjIwBr
https://dl.doubtnut.com/l/_Y1Q4EM0CMSK7
https://dl.doubtnut.com/l/_1rfarKf8U52u


6. State whethe true or false 

If three-fifth of a number is 15, the number is

25.

Watch Video Solution

7. State whethe true or false 

In a linear equation highest power of the

variable can be more than 1.

Watch Video Solution

https://dl.doubtnut.com/l/_noXKHp6OaGVs
https://dl.doubtnut.com/l/_MSp5AaErjTM0
https://dl.doubtnut.com/l/_KRprkFLBSBVp


8. State whethe true or false 

We can add/subtract the same number from

both sides of the equation.

Watch Video Solution

9. Write the statement for each of the

following 

Watch Video Solution

3(x − 5) = 18

https://dl.doubtnut.com/l/_KRprkFLBSBVp
https://dl.doubtnut.com/l/_yayY0D6Dyyh5
https://dl.doubtnut.com/l/_0dBBZM2bZBQ6


10. Write the statement for each of the

following 

Watch Video Solution

+ 1 = 14
x

5

11. Write the statement for each of the

following 

Watch Video Solution

x + 3 = 9

https://dl.doubtnut.com/l/_0dBBZM2bZBQ6
https://dl.doubtnut.com/l/_N4Xn7fX7YwUc


12. Write the statement for each of the

following 

Watch Video Solution

x − 1 = 1

13. Write the following statements as equation

2 subtracted from  of y is 7.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_ETNu4BPbrc0N
https://dl.doubtnut.com/l/_xc4hCr1jZR1G


14. Write the following statements as equation

Sum of 5 times p and 1 is 4.

Watch Video Solution

15. Write the following statements as equation

Number y divided by 7 gives 1.

Watch Video Solution

https://dl.doubtnut.com/l/_MEBpKlgWHCTs
https://dl.doubtnut.com/l/_MY8i123foASn


16. Write the following statements as equation

5 less than thrice the number gives 2.

Watch Video Solution

17. Sum of two numbers is 31. If they differ by 7,

find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_uvqVzwllJHek
https://dl.doubtnut.com/l/_LaPLZrivhuya


18. Verify whether the values given in the

bracket is the solution of the given equation 

 (when x =5)

Watch Video Solution

2x + 3 = 9

19. Verify whether the values given in the

bracket is the solution of the given equation 

 (when x=8)

Watch Video Solution

x − 6 = 22
7

2

https://dl.doubtnut.com/l/_U6ng9vqyGeYM
https://dl.doubtnut.com/l/_trKHBlFfG6q3
https://dl.doubtnut.com/l/_YI0bw6AlDpVx


20. Two supplementary angle differ by .

Find the measures of two angles.

Watch Video Solution

40∘

21. The total cost of 4 bats and 2 balls is Rs

1800. If bat costs Rs 300 more than the ball,

find the cost of each bat and each ball.

Watch Video Solution

https://dl.doubtnut.com/l/_YI0bw6AlDpVx
https://dl.doubtnut.com/l/_zguvamrwZinI


22. Each of the two sides of an isosceles

triangle is 3 cm less than twice the third side.

If the perimeter of the triangle is 64 cm, find

the length of each side.

Watch Video Solution

23. Solve the equation  and

verify the result.

Watch Video Solution

− 6 = 8 −
x

2

2x

3

https://dl.doubtnut.com/l/_fN1nhkBBW6iH
https://dl.doubtnut.com/l/_AhWwQGF0saMA

